NASK

900 LB. cirirprsir

Maximum Weight Capacity: 500 Ib.

*Actual product may vary slightly

Please carefully read and save these instructions before attempting to assemble, maintain, install, or operate this product.
Observe all safety information to protect yourself and others. Failure to observe the instructions may result in property
damage and/or personal injury. Please keep instructions for future reference.

For warranty purchases, please keep your dated proof of purchase. File or attach to the manual for safe keeping.

For Customer Service, Call 1-800-348-5004
or e-mail customerservice@focus-ontools.com

36008  05/2017




Basket Assembly

Slide cargo carrier sections together until the bolt holes line up . It may help
to prop up one or both ends to keep the holes aligned .

Secure the sections with 4 M10x80 bolts ,
Washers , Lock Nuts.

M10X80 Bolt Washer Washer | gek Nut

—Q O o

Flip the carrier over to install the main tube W/Bracket. Secure with 3 M10x80
Bolts. Washers ,Lock Nuts.

Face receiver tube with holes
extending off the carrier

Make sure the
folding model
main tube bracket
faces toward the
top of the carrier

M10X80 Bolt Washer  Washer | oy e

—Q O o

customerservice@focus-ontools.com 2 1-800-348-5004



Receiver Tube Assembly

Cargo

Carrier
Side
Insert the rounded end of

the Folding Receiver Tube
into the Main Tube bracket.

Cargo

Carrier

Side
Secure Folding Receiver
Tube with Pivot Bolt* and
Pin to main tube bracket

Pivot bolt assembly (side view)

Pivot bolt Washer Washer Lock Nt

s -0 —-O— O

To fold the carrier vertical,
remove Pin and fold carrier.
Align holes and reinstall Pin

in top Main Tube bracket hole.
Cargo
Carrier
Side

customerservice@focus-ontools.com 1-800-348-5004




Limited Manufacturer Warranty

FOT makes every effort to ensure that this product meets high quality and durability
standards. FOT warrants to the original retail consumer a 1-year limited warranty
from the date the product was purchased at retail and each product is free from
defects in materials. Warranty does not apply to defects due directly or indirectly
to misuse, abuse, negligence or accidents, repairs or alterations, or a lack of
maintenance. FOT shall in no event be liable for death, injuries to persons or
property, or for incidental, special or consequential damages arising from the

use of our products. To receive service under warranty, the original manufacturer
part must be returned for examination by an authorized service center. Shipping
and handling charges may apply. If a defect is found, FOT will either repair or
replace the product at its discretion.

DO NOT RETURN TO STORE
For Customer Service:
Email: customerservice@focus-ontools.com or Call 1-800-348-5004

customerservice@focus-ontools.com 4 1-800-348-5004




